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1. What is the minimum number of terminals required by a single op amp? What is

the minimum number of terminals required on an IC package containing four op
amps (called a quad op amp)?

The circuit shown below uses op amp that is ideal except for having a finite gain A.
Measurements indicate that vo=3.5V when v, =3.5V. What is the op amp gain?
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. An inverting amplifier uses an ideal op amp with R;=33k€2and R,=330kQ2. What
is the closed-loop gain you would expect? A second resistor is connected at the
input:

a- in series with the existing 33k ).

b- in parallel with the existing 33k 2

c- What values of gain result?

. Assuming ideal op amps, find the voltage gain vo/v, and input R;, in each of the
circuit below:
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